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UPCOMING ONLINE BATCHES

January 2023

‘ 18 JAN 2023 .

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

ONLINE LIVE CLASS

‘ BILINGUAL

18 JAN 2023

11 JAN 2023 25 JAN 2023

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

04:00 PM to 06:00 PM
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SIMPLE INTEREST
YT o1
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HTITUT SUTS hl AT

When interest is uniformly calculated only on the principal with given
time that interest 1s called simple interest.

STel SATST ol Hel ¥ H chelel HeTe W TTUHT 3t STt &, A1 38 SATST ohl ATEN0T
SIS hal ST 2l

Principal + Simple Interest = Amount.

UAE -+ ATl o1 = fere
= T s
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IMPORTANT FORMULA

PXRXT
100

S.1.=

Where ,
P= principal (HeT8)

R= rate of interest (SJTST aT)

T= time (FHA)
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A = Final amount

P = Initial principal balance

r = Interest rate

n = Number of times interest applied per time period

= Number of time periods elapsed
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CALCULATION OF COMPOUND INTEREST FOR 2

YEAR @ S
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CALCULATION OF COMPOUND INTEREST FOR 3
YEAR

3 o9 o ToTT <rshalfeg, SATST shi TUMET

P= 10000 R=10 % Tme ear _
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CALCULATION OF COMPOUND INTEREST FOR 4

YEAR
4aﬁ%%qmﬁ;waﬁwm
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Find the Compound interest on Rs 8000 for 3 years at 5% per annum.

8000 FI TT 5% Tfcl IS <l G H 3 TN Rl TAshalg, SATST [T ehi Ty

P—:_ %"DOO!_ QO\J'C == _—”%—_0 Mim = 25 g%b\lmc’\’\

ORI
(b) 1461
(c) 1261
(d) 1161




SSC CHSL 2022-23

Find the compound interest on 15625 at 16% per annum for 9 months when Compounded

quarterly ?

16% gfa =, =rshafg faamel &, 9 7 & foTw 15625 ¥ WX Tshafe st e 2

- Mien = Axnendh
. Rade = 167 [ - Sme”
F @ — ‘*< \0\\/\ - \\‘-@\ =5

\ o\wo\ — R nenth

(a) 1875
(b) 1951
(c) 1900
(d) 1851
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Find the compound interest on Rs 8000 for 1(1/2) years at 10% per annum interest being

payable half — yearly ?
10% ST I, ekl STaTeh H, 1(1/2) T oh TeTT 8000 9 TX Fsha (g, SATST <TG, 2

<. 744
. / /Myoj\)\me,—z\-g'\l 5“%
Z’SWg N = S;H%%éf
\‘S\, =5 \)\»%
(a) 1461
(b) 1200
(c) 1261

(d) 1361
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Ex: At what rate the difference of S.I & C.I becomes 720 1n 2 years on a sum of Rs.
50000.
fhe G T S.1 & C.I 3T 3 50000 FIT ST TFRT W 2 1A H 720 BT ST & 2

5O
Al
A
(\.-n‘l j @ Sz)) 1(1)?;:

oL
\ d) 9 %




SSC CHSL 2022-23

annum 1s Rs. 76.25. Find the sum.

If the difference between C.I and S.I on a certain sum of money for 3 years at 5% per

///?,z:o

&N¢ﬁk

C3I-S%

Ife gfd a9 5% hI T 3 1A |e1\ﬁ34T§3ﬁT UGS o S 37X ST 76.25 ¥4 | TINT 1

) L 1‘—7 &S
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EEIE S
/l 6(3 7&%0\38*
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(a) 12000
(b) 11000
(c) 10000

==
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A sum of money at compound interest amount to thrice itself in 16 years, so in how many

years will it be 27 times 1itself?

<Iohdl [, SATST TIRT O AT 16 1§ 3 THT & BIA 2, Al Tehd aﬁﬁﬂ@vﬁw@?

CS@ _ V63

(a) 32 years

(b) 48 years

( ) \ C years
Yot 1
\ - (d) 80 years
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The compound interest on a certain sum of money at 3% per annum after 2 years 1s

Rs.487.2 . Find the amount of the simple interest obtained on the same sum of money at

the same rate of interest after 2 years.

2 9N % SI1& 3% Jid 9y

T2 TIRT OX =Ishdleg, S 487.20 %) 7 2 T o 918 G0 TS

SO HHT 3T I STHHTEROT SATSPehi TRT HTel hifsT|
- Lx P=ee7 Rade =737 Tme= Y

X (¢) 420
(d) 400

? 9 _ (a) 320
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The simple and the compound interests on a sum of money for 2 years are Rs.8400 and

Rs.8652 respectively. Find the rate interest per annum.

2 | o foTT RIfRT OX |TUROT 3R <shafs, SATST shHRT: 8400 91 3T 8652 T 8| T a9 <hi

3T Y SIS | /\:
G \\o O C &= @6§3\

\\me 3\\(6 > = <v="25S.

‘ _%{3316 (a) 5%
%\WD RS (b) 10 %
) W\( (c) 8%
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The compound interest on a certain sum of money at the rate of 11% p.a. for 2 years 1s Rs.

4642. Find its simple interest at the same rate and for the same period.

Teh T3 TIRT 9T 11% Ui oy skl & € =shdfs AT 2 9N o foTq 4642 9 2| §HH 3 AR
AT 791 oh foTU SEehT GTEOT SATST J1d shifsTq)

s
NS

Coporenend (a) Rs. 4400
(b) Rs. 3500

(c) Rs. 4500

R —
N (d) Rs. 4200
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If Rs. 14,500 becomes Rs. 21,460 at simple interest in 6 years, then what 1s the annual rate
of the interest?
Ife ®.14,500 TTLRT SATST 9T 6 99 H T, 21,460 B STTAT &, Tl SATST <hl 11Nk SL T =7

(a) 4%
(b) 10%

(\_ ) fj (c) 6%
oty L
LN, e A ( d) 8%
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If the compound 1nterest on a certain sum for two years at 3% p.a. be Rs. 101.50, then

what would be the simple interest on the same sum for same period ?

It Weh FHTSra TiRT o a1 a9 o foTT 3% Wi aw 3t T | Fshal At 101.50 T4 7, 1 36 Tl
TR U AT o feTT Grermer sarst fohaHT g2

(a) Rs. 50
(b) Rs. 100

( - XS (c) Rs. 125
RO o oS

e (d) Rs. 147
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A person borrowed Rs. 10000 on compound interest at the rate of 40 percent per annum. If
the interest 1s compounded half yearly, then what will be the amount to be paid after 1.5

years?

Uk STk 40 TTeTa i a3t & T Tehafg ST W 10000 T IUR T 2| AlQ SATST TeaTNeh
&Y Y G TohT ST 8, 1 1.5 I o178 AT shl ST ATt SRIRT R 81i?

(a) Rs. 17280
(b) Rs. 15250

( \> (c) Rs. 17648

- (d) Rs. 15450
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